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V126abc = V2 x 32 x 7 x abc

abc = 14 T+ abc = 56 == abc = 126
abc = 224 = abc = 504

abc =14 4 o, (1,2,7)

abc =56 4 o, (1, 7, 8), (2, 4, 7)
abc =126 4 W, (2, 7, 9), (3, 6, 7)
abc =224 4 o, (4, 7, 8)

abc =504 & o, (7, 8, 9)




(x* + 5x + 6)(x? — 3x + 2) — 252 & HF=A| Il gF

@) (2 + x+12)(x - 4)(x +5)

X2 —x+12)(x+4)(x-5)

X +2x-12)(x+4)(x - 5)
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(x* = x=12)(x+ 4)(x - 5)
(
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X2 +2x-12)(x —4)(x + 5)
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(x% +5x+6)(x2 — 3x + 2) — 252
=(x+2)(x+3)(x—1)(x—2) - 252
((x+2)(x = DH(x + 3)(x - 2)} — 252
(x2+x—2) (x2—|—x—6)—252
+x =12 2SI,

(t—2) (t-6) — 252

=2 — 8+ 12 - 252

= 1> —8r—240

(t+12)(z — 20)

(x% + x + 12)(x? + x — 20)

= (2 +x+12)(x—4)(x+5)
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3. A5Ee) FAL ol gstel the- Astu?

22 — 42 + 62 — 82 + 102 — 12% + 142 - 162

®© -128 @ -132 (@)—144 @ -156

B

® -162

(F4)
=(2-4)(2+4)+(6-8)(6+8)

+ (10 - 12) (10 + 12) + (14 — 16) (14 + 16)
= —2(6+ 14 + 22 + 30) = —144




